
a
m

b
ie

n
t

P
E

N L
1

;L
2

;L
3

4

YDY 3x1,5

oświetlenie

pom 1,11;  1.2;

N

1

In
=

1
0

A
B

YDY 3x1,5

oświetlenie

pom 1,1; 1.10

1

In
=

1
0

A
B

YDY 3x1,5

oświetlenie

pom 1.3; 1.4; 1.5

1

In
=

1
0

A
B

YDY 3x1,5

oświetlenie

pom 1.6; 1.7; 1.8

1

In
=

1
0

A
B

Y
D

Y
 3

x
1
,5

o
ś
w

ie
tle

n
ie

p
o
m

 1
.9

  c
ią

g
i s

trz
e
ln

ic
z
e
;

1

In
=

1
0

A
B

YDY 3x1,5

rezerwa

1

In
=

1
0

A
B

YDY 3x1,5

awaryjne

YDY 3x1,5

awaryjne

YDY 3x1,5

oświetlenie

pom 1.9

1

In
=

1
0

A
B


